2008/09/16

(@]
(mol/L )
(s, min, hour, day, year )
A_B
t dt [A] d[A] Va [B] d[B] Vg
min  min mol/L mol/L mol/L min mol/L mol/L mol/L min
0 10
1 6
o __dlA
2 4 AT dt
3 3 _dlB]
dt
4 2.5
45 T T T T T T T T
1 40}
.’g 350
2 < 30f
= _ g 251
20}
] 1.5-—
1 < 1.0-—
| 0.5-—
0 1 " 1 " 1 " 1 " 00 I " 1 " 1 " 1 " 1
0 1 2 3 4 5 0 1 2 3 4
/ min / min

dz




A+2B - 3C+4D

t  min 0O — 1 v v
mol/L  mol/L min mol/L min
[A] mol/L 10 7
[B] mol/L 10 , 4
[C] mol/L O
[D] mol/L O
f
aA+bB+ ...... - pP+qQ+ ......
__1d[A]_ 1dB]_ _1d[p]_1d[Q]
a dt b dt p dt q dt
N
/ A—>B
vodlA_dlE]_y x
dt dt n:
aA+bB - cC+dD
1d[A] 1d[B] 1d[c] 1d[D] gl K
e —= =k[A]"[B
V=mo S ba o o MATBI

\_

2NO +Cl, —— 2NOCI
2H,+0,—X>2H,0
COCl,—*->C0 +Cl,
2N,0, —>2N,0, +0,
C,H,+H,—X*>C,H, 423K
0 300K

v =k[NOF[cl,]
v=kH,J[0,]
v=k[coct, cl,
v=Kk|[N,O,]
v=k[C,H,]H,]
v=k[C,H,]"[H,]

e N e N N
~— — — ~— ~— ~~—




